

## Kansas Corporation Commission Oil & Gas Conservation Division

1069375

Form ACO-1

June 2009

Form Must Be Typed

Form must be Signed

All blanks must be Filled

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15					
Name:	Spot Description:					
Address 1:	SecTwpS. R					
Address 2:	Feet from North / South Line of Section					
City:	Feet from _ East / _ West Line of Section					
Contact Person:	Footages Calculated from Nearest Outside Section Corner:					
Phone: ()	□NE □NW □SE □SW					
CONTRACTOR: License #	County:					
Name:	Lease Name: Well #:					
Wellsite Geologist:	Field Name:					
Purchaser:	Producing Formation:					
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:					
New Well Re-Entry Workover	Total Depth: Plug Back Total Depth:					
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):	Amount of Surface Pipe Set and Cemented at: Feet  Multiple Stage Cementing Collar Used?					
Operator:						
Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)					
Original Comp. Date: Original Total Depth:  Deepening Re-perf. Conv. to ENHR Conv. to SWD  Conv. to GSW	Chloride content: ppm Fluid volume: bbls  Dewatering method used:					
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:					
Commingled Permit #:	Operator Name:					
Dual Completion Permit #:	Lease Name: License #:					
SWD Permit #:	Quarter Sec Twp S. R					
☐ ENHR         Permit #:           ☐ GSW         Permit #:	County: Permit #:					
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date						

## **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

**Submitted Electronically** 

KCC Office Use ONLY
Letter of Confidentiality Received
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I II III Approved by: Date:

Side Two



Operator Name:			Lease Na	ame:			_ Well #:	
Sec Twp	S. R	East West	County: _					
time tool open and clos	sed, flowing and shut s if gas to surface te	d base of formations pe -in pressures, whether st, along with final chart well site report.	shut-in pressu	ire reache	d static level,	hydrostatic pres	sures, bottom h	ole temperature, fluid
Drill Stem Tests Taken (Attach Additional S	heets)	Yes No		Log	Formation	n (Top), Depth ar	nd Datum	Sample
Samples Sent to Geole		☐ Yes ☐ No		Name			Тор	Datum
Cores Taken Electric Log Run Electric Log Submitted (If no, Submit Copy) List All E. Logs Run:	Electronically	Yes No Yes No Yes No						
Ţ		CASING	S RECORD	New	Used			
		Report all strings set		New ace, interme		on, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weigh Lbs. / F	t	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
		ADDITIONA	L CEMENTING	3 / SOUFF	ZE RECORD			
Purpose:  Perforate Protect Casing Plug Back TD Plug Off Zone	Purpose: Depth Type of Cement Perforate Top Bottom Protect Casing Plug Back TD			acks Used Type and Percent Additives				
ridg on zono								
Shots Per Foot		DN RECORD - Bridge Plu ootage of Each Interval Pe				cture, Shot, Cemen mount and Kind of M		Depth
TUBING RECORD:	Size:	Set At:	Packer At:	L	iner Run:	Yes No	)	
Date of First, Resumed I	Production, SWD or EN	Producing Me	thod:	Ga	s Lift C	other (Explain)		
Estimated Production Per 24 Hours	Oil E	Bbls. Gas	Mcf	Water	Bł	ols.	Gas-Oil Ratio	Gravity
DISPOSITIO	Used on Lease	Open Hole Other (Specify)	METHOD OF C	OMPLETION  Dually Consumit ACC	mp. Con	nmingled mit ACO-4)	PRODUCTIO	ON INTERVAL:





211 W. 14TH STREET, CHANUTE, KS 66720 620-431-9500

D11072

TICKET NUMBER

7116

FIELD TICKET REF #

FOREMAN \_ Jue Blanchard

ssi <u>631550</u>

DATE		SECTION	TOWNSHIP	RAN	IGE	COUNTY	7				
7-14-11	KANSOS 1178 LLC			17-6		17	29	9 18		NO	1
FOREMAN / OPERATOR	TIME IN	THOCK THATELY				IPLOYEE SNATURE	]				
JoeBlanchard	6:00	10:00		904850					1/2 1	3 lon hee	
Justin 7- Javken	6:00	10:00		903255					Tur	feller	
Dustin Porter	6:00	10:00		903600				1	last	Torly	-
Wes Gehman	6:00	10:00		931505	95	3/395		1		The same of the sa	
										***************************************	1
JOB TYPE LONG STV CASING DEPTH 1213 SLURRY WEIGHT 13 DISPLACEMENT 28. REMARKS: Washed 38 4 180 SKS bottom 4 S.	5 SLURRY 89 DISPLAN F+51/2 S	CEMENT PSI _	TU W/	JBING ATER gal/sk X PSI	ene	OTHE CEME RATE	Hbpn RAN	CASING	0 Bl d	130	J
						M. C.					

ACCOUNT CODE	QUANTITY or UNITS	DESCRIPTION OF SERVICES OR PRODUCT	TOTAL AMOUNT
904850	. 4 hr	Foreman Pickup	7
903255	4 hr	Cement Pump Truck	
903600	4 hr	Bulk Truck	
31505	4 hr	Transport Truck	
131395	4 6	Transport Trailer	
904730	4 hr	80 Vac	
	1213.66 Ft	Casing 5 1/2	
	6	Centralizers	
		Float Shoe	
· ·	1	Wiper Plug	
	2	Frac Baffles 4" # 4 1/2	
	140 SK	Portland Cement	
	35 SK	Gilsonite	
	2 SK	Flo-Seal	
	12 SK	Premium Gel	
	5 sk	Cal Chloride	
		5/2 Basket	
	7006 opl	City Water	
103139	4 hr	Casina trader	
32895	4 60	Casing trailor	

TOil. M' Phersa Dulling Tuesdos 07/12/11 @ 12 Noon.

Pipe#	Length	Running Total	Baffle Location	POSTROCK ENERGY CORP - CASING TALLY SHEET
1	39.60	39.60		Date: 7/12/11
2	38.94	78.54	Cement Basket	Well Name & #: Kansas 1178 LLC 17-6
3	39.33	117.87		Township & Range: 29S-18E
4	39.53	(157.40)	(a). 157/d.	County/State: Neosho / Kansas
5	38.60	196.00	13199°	SSI #: 631550
6	38.56	234.56	V	AFE#: D11072
7	39.83	274.39		Road Location: 100th & Elk, W & N into
8	38.69	313.08		API# 15-133-27571
9	39.18	352.26		
10	40.50	392.76		
11	38.54	431.30		
12	40.00	471.30		
13	38.27	509.57		
14	39.75	549.32	And the second s	
15	39.70	589.02		
16	38.86	627.88		
17	39.74	667.62		
18	39.08	706.70	- Set Upper	Baffle @ 706.70 fd. Big Hole.
(19)	39.39	746.09		The state of the s
20	39.84	785.93	The state of the s	
21	40.51	826.44		
22	40.48	866.92		
23	39.33	906.25		
24	39.35	945.60		
25	39.24	984.84	-Set Lower	Bollle @ 984,84 Ld. Swall Hale.
(26)	39.66	1024.50		11
27	39.93	1064.43		/
28	39.50	1103.93	DOO	
29	39.77	1143.70	DEJOK	2: TUNK HAWES.
30	39.25	1182.95		
Sub	10.63	1193.58		To be Men the
Sub	20.08	1213.66	ally Bottom	Jake Blogen.
Extra	38.11		- Leave on	f.
	1/	b.		the the same
	Max	204	0000	vola duba,
	o all	0 10 90	Ala M	Att. 15 st
K/ (	1/10	VUZZ	- Me de	pero- your

Miss Top 1087 fg. Log Botton 1209.80 fd. Tally Botton 1213.66 fd. Drille TD 1220 fd.

Teamwork works! Put Safety 1st!

The Ke Recognition (620-305-9900 Cell)

07-12-2011

## McPherson Drilling LLC Drillers Log

PO# AFE# D11072

Rig Number:	1		S. 17	T. 29	R.18 E
API No105-	133-27571		County:	Neosho	
	Elev.	1010	Location:		

Operator: POSTROCK Address: 210 Park Ave Ste 2750 Oklahoma City, OK 73102-5641 Well No: 17-6 Lease Name: **KANSAS 1178** Footage Location: 660 ft. from the SOUTH Line ft. from the EAST Line 1,950 Drilling Contractor: **McPherson Drilling LLC** Spud date: 7/11/2011 Geologist: Ken Recoy Date Completed: Total Depth: 1220 7/12/2011

Casing Record			Rig Time:
	Surface	Production	
Size Hole:	11"	7 7/8"	
Size Casing:	8 5/8"		
Weight:	20#		
Setting Depth:	22	MCP	1055' h2o
Type Cement:	PORT		DRILLER: Andy Coats
Sacks:	4	MCP	

Gas Tests:	
230'	0
305'	0
405'	0
555'	0
605'	5.32
655'	4.76
680'	4.76
755'	4.76
780'	5.32
805'	5.32
830'	4.76
880'	5.32
930'	5.32
1031'	28
1070'	25.8
1081'	25.8
1220'	25.80
Comments:	
Start injecting @	

Well Log									
Formation	Тор	Btm.	HRS. Formation	Тор	Btm.	Formation	Тор	Btm.	
soil	0	3	sand	490	512	coal	928	930	
shale	3	6	shale	512	545	shale	930	1015	
sand	6	18	lime	545	550	coal	1015	1017	
shale	18	89	coal	550	552	shale	1017	1065	
lime	89	92	lime	552	575	coal	1065	1067	
shale	92	125	shale	575	579	shale	1067	1076	
lime	125	197	lime	579	584	miss	1076	1220	
shale	197	200	coal	584	585				
black shale	200	202	shale	585	624				
shale	202	235	oswego	624	643				
black shale	235	237	summit	643	652				
shale	237	248	lime	652	662				
lime	248	273	mulky	662	668				
shale	273	281	shale	668	740				
coal	281	283	coal	740	741				
shale	283	287	shale	741	763				
lime	287	335	coal	763	765				
shale	335	401	shale	765	801				
coal	401	402	coal	801	802				
shale	402	437	shale	802	817				
lime	437	450	coal	817	819				
black shale	450	452	shale	819	864				
sand shale	452	461	coal	864	865				
shale	461	490	shale	865	928				